The question was asked:

I need a software that that look into the history of a stock and that extracts the major cycle(s) to reproduce into the future?

Answer:

Behind the words “extracts the major cycle(s)” lies a huge work  adjusting the standard mathematic (spectrum analysis) to real financial data. This is the central problem of this task and the research shows that multiframe spectrum is most suitable for financial data.

Let’s consider example. We downloaded the Gold prices from 1975 y. and click “Spectrum” button:
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You will get the Spectrum diagram that reflect the cyclic portrait of our financial instrument:
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The peaks on this diagram correspond the most strong cycles. Push [image: image3.png]


 button and click mouse button around the most strong peaks and these cycles will be immediately marked by vertical stripes. 

I selected three cycles:
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Now you need select all these three cycles. Push “Shift” button and select these cycles one by one:
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Now you need to click “Wave” button and now look at the Main Window:

[image: image6.png]



Now you can see all these three cycles. Pay attention they are not an ideal sin curve. It is because we took into account 6 overtones. Like for 43 days cycle we used 43 days sinus curve, 21.5 days sinus curve (43:2), 14.33 days sinus curve (43:3) …

If you prefer to work with pure sinus curves, set this option to 1:
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Now the result looks:
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The teal curve in the top is the superposition of these three cycles (L1+L2+L3).

You can see this superposition formula in the Model Editor window:
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Actually you can vary it. For example, you can make the input of 27 days cycle on 50%  bigger:
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There is one more they to see how these cycles work together. Put these cycles into “Cycle Box” and click “H” button:
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You will get this window:
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There are three slides here each of the present the input of each cycle. Dragging these slides you can vary the input of each cycle and see the summary diagram immediately.

Set “Use Last” option to observe the time span what you need. The smaller value of “User Last” the faster program updates the summary diagram when you drag the slides. 

